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£ g g - BRTE B{r = fili & ]
BRI 2,524,400 + 50,674 2,575,074
EEAGE 2,524, 400
EERZE 50, 674
Z O th R 2,524,400 x 53.85% ( 35% < (1 — 35%)) 1,359, 389
BRI 2,575,074 + 1,359,389 3,934, 463
—REEEE 3,934,463 x 53.85% ( 35% + (1 — 35%))-3,171 2,115,537
EFHimE GREFEER 3,934,463 + 2,115,537 6, 050, 000
EEISE 8, 765, 465
HER (8,765,465-3,508,580)%78.6%7,376 4,124,535
REEEE 8,765,465 + 4,124,535 12, 890, 000
RHMmE 6,050,000 + 12,890,000 18, 940, 000
R ETEET ] 18,940,000 X 10% 1, 894, 000
ES EHTH 18,940,000 + 1,894,000 20, 834, 000
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BEREERE 3 2,575,074
REXRH 2,575,074
REXRH 2,524, 400
FHEIER 448,100
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=
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bEX ] 471, 350
6 EBEREEMERR .00 471, 350 471, 350
=
ARRARRRER 20, 150
1T AFRARRRER .00 20, 150 20, 150
=
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EBARE 20,674
8 EHARE .00 20, 674 20,674
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9 XBRERE .00 30, 000 30, 000
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EERIE GREXH) 8,765, 465
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REXH 8,675, 465
REER 152, 409
10 AEER 1.00 152, 409 152, 409
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=
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18 EERE (EFTILT—ARN) 4.00 22, 685 90, 740

tth 5
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20 HHE 1.00 3,508, 580 3,508, 580
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BIREE 90, 000
21 BIREE 1.00 90, 000 90, 000
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